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fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or more

PP Ty : _ L/
NOTE: Four possible answers A, B, CandDto each guestion are given. The choice which yau think is correct,
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bubbles will result in zero marks in that question. _
QUESTION No.1 ; —|l~ 1. gl
- J& L ¥ Sk Jus

Dry cleaning business is an example of

Services Business S JLM’JL»' (B) Trading Business J ;gub’(],? (A)
Famous Business J zgub’m” (D) Manufacturing Business J Ak St (C)
Fixed assets having no physical existence are . J lef U 21:, 22 b # 2 ol 20 F"
: Tangible Assets = 2 4/ (B) Intangible Assets =l 2 d 2 (A)
Useless Assets =l 28143 A (D) Fictitious Assets =l 38 J* (C)

. § 2 un 209 7 un ad 35 € A et Qrg ot 400 1,20,000 b A
If capital is Rs. 1,20,000 and liabilities are 35 % of capital. Total assets will be ?

&4 204000 (D) & 1,62,000 (C) & 78,000 (B) 4'.:1.1,20,000 (A)
Assets = Liabilities + Capital represents . ¢ i V'] b Helrls Gsg = =l 24
Trial Balance 5 =pl uj LT (B) Accounting statement Sordf Gisl> (A)

: Trading and profit and Loss A/C S L s b’r sl JA? (€)
The process of equalizing the both sides of an account is called bt lff J’ oSz S Jl)l Use J :If..{l

Equation =hst+ (D) Balancing t¥iw (C) Journalizing t sl J 2 (B) Posting &usl (A)
List of balances in the ledger is termed et bt f.:/j J.:.l,_t_li,& Z /2{

Final account Wy (D) Trial Balance al.oLBu? =2 (C) Cash book £ gﬁ( (8) Balance sheet .:éu’-l-’ (A)

Accounting equation Letsbs $ab > (D)

Two parallel lines drawn on the face of a cheque is ot J_w S _dil}" J) L'f(}ﬂ 4 .,_G' _{l
Dishonoring & £ L/~ (D) Endorsement LL £ (C)  Issuing 4 L.z (B) Crossiné LLiS /S (A)

Bank pays high rate of interest on - l'.'/t Il sy L;’ wiJ o
Fixed Account 4:1)’.:4 4~ (B) Saving Account 4:0’.-.-4 (A)

Foreign Currency account 4:1f / (f 2 (D) Current Account 4;&1 U (C)

Furniture purchased on credit will be recorded in ¥n s 4(/ i ? 4 Aot
Cash Payment Journal ‘ﬁbu‘ﬂ £t (B) Purchase Jm‘irrial L gl (A)

General Journal & gt/ 8+ (D) Cash Book SL & ()
Which column of cash book is not balanced ? -4 Lﬁ.’l VH(J"L ..f‘f-’/
Details J* (D) Bank & (C) Cash (¢# (B) Discount &7 (A)

Zakat deducted by bank will be entered in cash book & Jx e A J M ‘i'f/‘ ufh? e
Credit cash column Hb’u'f-( 24/ (B) Debit cash column Hb’ u*-( <t (A)

Credit Bank column f(.ﬁ.bfgf (D) Debit Bank colJumn Hb’..é. &2 (C)
Cheques deposited into bank but not cleared are named & tle by rb J(' U i ~ ;_If iz L i Llfﬁ - s
Un credited cheque _(gc":i;_b};f (B) Un presented cheque L&A Z(A)

Dishonoured cheque &7 (D) Omitted checl;ue Lind o (C)

payment a bill of exchange before due date means gy e ‘El;l ded J" & b/t’ u/.‘
Dishonour of bill ¢+ §64« (B) Discounting of bill 675 ¢ G (A)

Renewal of bill 4.4 Gk (D) Retiring of bill ¢»&d ik (C)

Interest on renewal of bill of exchange is income of e QaTor 4 25§k
Endorsee Zb |/ S (D) payee o Urs (C) ~ Drawee JJr (B) Drawer Jo'' 2y (A)

B oW a1 £0s140 &7 Sms A€ 2l st ada Sl Ji ¥ £, 5600
purchased goods for Rs. 5600 subjecte to 4 % discount and paid carriage expenses on it Rs 140
Purchase account will be debited with

5376 (D) 5600 (C) 5740 (B) 5516 (A)
Which one is a capital receipt ?- | V¢ ok dr%s sef
Interest on deposit s 4 (?1_ & (B) Investment by oerer $K S M (A)
' Collection form Debtors U < U#:/# (D) sale of goods =35/ J 42 (C)
Closing stock in business is ‘ 4 Joods d0 L £ sk
Fixed asset :HJ’P (D) Current asset 28 (. (C) Intangible asset :HJ /2 (B) Fictitious asset ,emd? (A)
The term “ Marshaling ” is associated with P " A" Ll
Balance Sheet :..téu"‘"(B) Trial Balancle :..-"&LW:'*’L? UI(A)
Profit and loss account e WU (D) Trading account z_.:l/J/?(c)
If trial balance does not agree , the difference is put into s Jb u'(;/ JJ} Ins /l 2 el (FUT = /!
ER Drawing account u-‘-':\f(P bz (B) Capital a.j:ount LA (A)
‘ Suspense account u!:‘fd‘.! #(D) Trading aelcount J:U'BJE’ (c)
Over or under statement of balance of any account is an error of K Bﬂr( (f“ J Z_-)/ f ‘kl, uLJ I Lo W (f(

Omission érror‘f‘u JJeJ#A (D)  Principle error Hdusm(c)  Posting error J‘" Jeusi(B)  Costing etror u‘” JL_/J} (A)
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SUBJECTIVE PART i | | =30 &2

TIME 2:30 HOURS

TOTAL MARKS : 80 PART — | il 80 : A
Q. No.2 Write short answers of any Five parts 2x5=10 .:;.‘7 W2 /{" L.rlil étc__Jf 2/Jlr
Define business transactio’n. D(:‘ Kr’ M "2,5’ -:{-.J'/J JL[) u" (51‘-115/ i
Explain in brief the cost concept. ' -&’:Jb’ f/"? Ju" &7 =l ii
Reproduce the list of elements present in an accounting equation. VP S ot s2y S wlols doz L1 | i
s § 18 T x 20:30,000 & =d i 2iat il 400 120,000 8 A S e a1 S | v
If Assets = Rs. 120, 000 and Liabilities = Rs. 30,000 ldentify the amount of capital.
Differentiate between current account and saving account. -é Z;, (J/’ I~ :lf...ﬁ 2 :lfulv v
Discuss honour of cheque. _‘_.’-f Uk It (ﬁ bt | vi
Which book is called three column cash book ? sl L IE S LU i
Why is it necessary to compare cash book and pass book ? S Uns U A LUt o ..fu’-’-'/ viii
Q. No.3 Write short answers of any Five parts 2x5=10 2 iz A L7 ékr_.{jf_3/:)g)lr
Differentiate between drawer and drawee. ..é ol J/ s L 2 r s sl il i
Elaborate in-land hill of exchange. . -Z{.’.f wols deh f i
Why profit and loss account is prepare ? tH iy :U/Vuh'ﬁ:g' 7| i
Give tWo examples of current I‘iabilities. -4_; u" & 2 J ezl s | iV
Describe capital expenditure. -é ..pl.u J uH]l by | v
Narrate the meaﬁing of capital profit. -A‘:u dlr L év Yk | vi
Define the term error of commission. tﬁ/’ Ju:“‘ L}!ﬁ‘ll \(ii

Explain the purpose of suspense account in rectification. 2 e ¥ ..‘AST L et § usl | viii

- (Part-Il ggasan) \
NOTE : Attempt any Three questions from this part  3x20=60 i _(/“ Y4 Lty of :._J/ PR Y (Y
Journalize the following transactions of Usman Traders. -éf};lﬁz LSz J/{qu; J‘-’ Y Y10 2 4/Jlr’

WU Ao e 21 § 23315000 & st £ ¥ 4020000 Y Loy 80000 8 L o |
Usman started business with Cash Rs 80,000, furniture Rs 20,000 and goods Rs 15,000
Purchaséd goods for Rs 25,000 from Irfan. ‘,:‘r,b] oM JA_J25000&" e b/ ii
Goods amounting to R$\2500 returned to Irfan. -u:f(ﬁb ] (fd..u 2500 df fub/ iii
Sold goods to Ali for Rs 15,000 L =8 el J &15000 & S F | v
Paid cash to Irfan Rs 10,000 as part payment. -J It L.ulOOOO df el e (F 7] J e gis | v
Goods of Rs 2000 returned from Ali. S A s w2000 & | i
Received cash Rs 8000 from Ali as part payment. s dr': (f | 8000 é’ e (Kl ;f & d‘ vii
Goods of Rs 1000 distributed as charity. 4[;/ (J £ J) L e ¥4 oL J 241000 é” viii
Withdrew cash Rs 5000 for personal use. ; Y /tub’ 4225000 &" 4. ‘.C Jlrf! db ix
Paid Rs 5000 salary and Rs 7000 for rent. A0 b 4-2/7000 ¥ o7 432 5000 & | x
| O Lt b 3 s S o e ehs - 5A Ul
State with reasons whether the following items are capital or revenue
J’:"m Jublll (}:’F A:rd/"""' J o u/gi égﬁ&ub’ i

Legal expenses paid for registration of newly purchased land for business.

(Fbl Ju*{/)ﬁ 434!44(5!,07 J(}d g/b»b’ ii

Commlssmn pald to real estate dealer on purchase of land for business

White wash expenses for office building. .‘F 3] J ...MJI L. 13 £ 4 = J /; iii
Wages of workers for construction of factory building. (E 7] J Jda I’ Vs p & 5‘7 J e J $ /ﬂ iv
Painting expenses for newly constructed factory building. _‘Ebl Sas sy 4 =M P /; FSs 8| v
Payment of salaries to office staff. .u:r ] u,ﬂf J bk L /: vi
Advertising expenses for sales promotlon PP .{,Fbl J@],d’r !.’u K =354 | vii

-&;/u//;ﬂ's.ﬂf“!i.}fuw-):é_ﬂc—_&fu'{:g viii
Repair expense for equipment damage durihg unpacking.
Obtained a loan from bank to finance new project. P e g é:.r./ £ | ix

: fmJ.L/..ﬁ)ut..uy'c,(i.ud,’f*wmﬂfcf,f‘iﬁum;f‘ u"guﬁ_} »

Trafflc permlt fee paid for moving heavy machinery on city street.
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j GK £ gk Fuw v 3o.=,.-.b:;;biwmf;"zg;5f"d"
id as on 30" Septe R S
From the following particulars , prepare bank reconcillation statement of Mr. Ab 23000 SE VL VY| | W

 Balance as per pass book Rs 23000

| So00, 30 i
f: i,;\ooot‘.‘—rz"‘%""’zozs;
‘ -!ff..ni‘ggewi.ft o £ Sk g £ 434004 ‘zozs has not so far been

{ Cheques for Rs. 1000 and Rs. 3400 passed for payment before 30" September,

presented for payment .
+ 30| lil
? Uncredited cheques Rt uﬁ i & 'J . /7
? theques upto September 30,2023 Rs 2700 g (}!(J The SIS &V 100 & Ll iv
i Service charges deducted by the bank Rs. 100 -J ¥ 5 4} Uﬁ 500 | v
2/ AL v

i Dircctly deposited by a customer Rs. 500

,&f,u;/-—&vﬁr’r" 1400 | vi

. A cheque for Rs. 1400 had been dishonored.

..2,{.:7/: S ud 6’0’: -7/Jlr
LT o e 5000 L4 i ||

.d:/ww:lf!_aztzdufzruwooot}‘ i
-Lf&:f&u s e (fo;k(bl 27 4-4s3000 &l o

interest pald was wrongly posted as interest received Rs. 3000/-
uhiféuf;&”@uu{af«hrumaot}‘ iv

Rectify the given errors.

| Purchase book over-cast Rs. 5660/-
| Salaries paid charged to wages account Rs, 10000/-

g f s & 0/
Payment of salaries Rs 1980/- was wrongly posted to salary account Rs. 1890/~ v
I IR P ST P g § L5000 &

Purchase of old Machinery wrongly posted to sales account Rs. 5000/-

Sales book under-cast Rs.1000/- ' g Iod f 4 1000 v %4 ,(t)..u vi
Sales return Rs.2000/- by Shahid has been omitted to record. LAt w2z u:f A A e 4w 2000 e ;; vii
-t:/mgsooo&‘w;tféd';.u‘"d'u,;,gJz‘_uaooob'fm viil

Credit sales to Ali Rs. 3000/- wrongly debited to his account Rs. 6000/- &‘ i
Rent paid Rs. 2000/- was omitted to be recorded. LA sz 0l e ¥ 4w 2000 H
Sales return book under cast Rs. 2000/- 4 2000 & £ o0 Jetsf i |
Pl g sl W I Ll S =) A 8 - 60,000 e L-..v’ -84
i -é&ﬁ&ﬁ)uﬁd <3 Lyt b3 tn- d)/)]"dﬁf“
; W g b g 2t 122 40 /1 (2) u’géJdi‘«Jb;t'u}‘L.g)ﬁ(l)
! SIS P Pigohi i@ i dmf..éz,.:d/‘:f.’....éﬁ(a)
| Naveed sold goods to Waqas for Rs. 60,000 Naveed drew a bill of exchange on Wagqas for this amount
- for four months , on maturity the bill was dishonored.

Pass Journal entries in Naveed's Journal under the followlng circumstances.

1. If Naveed retained the bill with himself till due date.

2. If Naveed discounted the bili with his banker @ 12 % per annum.
f 3. If Naveed sent the bill to his bank for collection .

4. If Naveed endorsed the bill to his creditor Asad.

{

| .i;?eéﬁu!:lffulﬁ:gﬁaﬁc_u Ju* J’i)-9/dlr

Prepared trading profit & loss account and Balance Sheet.

Rs Rs
Machinery ' gf‘* 12000 | Discount o 627
Debtors "» | 10690 | Sales e} | 11439
Bank & | 3151 | Creditors #Jf) | 12408
Opening stock A | 2920 | capital 18390
Purchases 47| 9092
Drawing cP b 250
Carriage % T of !«.ﬁ 600
Wages ez | 1910
Salaries F | 1300
Insurance P 119
Postal Expenses 8SS 132
Bad debts drajet 700
42864 42864
Adjustment o rsT
(i) Closing stocks Rs 7928 42 7928 123809 (1)
(f) Depreciation on Machinery 5 % 5% i oo o £ 62> (i)
(iit) Qutstanding wages Rs 300 < 300 a7 JF (i)
(iv) Prepaid Insurance Rs 50 e 50808 (iv)




